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Paper I
gyutent I

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : (1) This Paper contains Sixty (60) multiple choice questions, each question
carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
o : (1) A TRAUCRhd |18 (60) dgHae T fooiel oTd Yoe WAl &M (2)
3R
(2) HIER! TG (50) TEART SW fe@n

1. Out of the following, which is the 1L @ T F fHuE aeR o ?
correct statement ?

(A) STEAT9A & STl Uik eTR.
(B) 31eAT99 & st uishanr TR

(A) Teaching is a dependent
process.

(B) Teaching is an independent

process. L X
>
(C) Product of teaching must be (C) SAEATITH T ST ST
learning. EIESE
(D) Learning is dependent upon .
teaching. (D) AT FATTAER AT THd.
2. e is very important | 2.  STEHEAAT UfeRAmey R
in the process of learning. e 379d
(A) School atmosphere (A) I FTATeRl
(B) Infrastructure (B) drnyd gfaen

(C) Previous knowledge
(D) Teacher’s personality

............................... results in effective
teaching.

(A) Classroom discipline
(B) Punctuality of students
(C) References used by teacher

(D) Clear communication

(C) geaH
(D) fIreere Afaau

(C) forgrpm el HeH
(D) GEIse G

[P.T.O.



Effective teacher ......................... .
(A) allows students to ask questions
(B) completes syllabus within time

(C) provides a variety of learning

experiences

(D) explains everything to absent

students

............................ is not a

characteristic of good teaching aid.
(A) It should be very small

(B) It should be accurate in every

respect
(C) It should be easily portable
(D) It should be upto date

If your students have problems
related to learning your subject,

then the best solution is .............. .
(A) increasing homework

(B) supervised study

(C) diagnostic teaching

(D) frequent assessment

JAN - 00118/1—A

(A) foemeata yea fommuar=t g <@

(B) UISUshH daxd Ul Rl

(C) afgeaqul stz stqva o
(D) TResr foaneat wed et wHTA

WY (teaching aid) ¥ AATE.
(A) d EU <eH 39
(B) d §d =M 3w A9

(C) @ wWesuul Tenl foehtumed &=
foToft a1 =

(D) d TIIEd ST

SR g faeneatan, qu=an faw@m=n

LTI T STS=ul 3Tl aY 39H

(A) TEUIS dTefan
(B) wdafard 1%

(C) TeHIHeh 37&aT9H

(D) IRAR AT




The phrase “................... giving
personal attention to each student
individually ................... is an

example of :

(A) succinctness
(B) circumlocution
(C) wordiness

(D) tautology

A well-written ........cocooeiiiiiiiin
attracts potential readers and
facilitates the cataloguing of a
research report in an electronic

database.
(A) title
(B) summary
(C) abstract
(D) synopsis

A proposal that may provisionally
serve as a starting point for further

research is known as a ................. .
(A) hypothesis

(B) theory

(C) model

(D) principle

JAN - 00118/1—A

oqi;mqﬁw ‘rﬁﬁ \?Ilgﬂ ........... "%TW
...................... O

(A) Hferer

(B) wtafea et

(C) v=mEEER

(D) FTTIEfR

PP — NS

AMFHFE HA d A aUeX HINEA
STEATAT TUIEh T STER-TTI gAY
TIR I YA BrEal.

(A) TS
(B) g&9
(C) IS

(D) TISETRT

S YT ATl FHEYE R
HINEATES TRY o, TuA aroRal 3l
W .......................... aﬁ w.

[P.T.O.



11.

12.

A e, is used to show

exact values.

(A) pie chart
(B) table

(C) bar diagram
(D) dot plot

Which of the following is the most
recent and dependable source of
information on a broad scientific

topic ?

(A) Research paper
(B) Bibliography
(C) Review article
(D) New textbook

The ovvveeeeeeiiieeeieeeeeeee, is the best
indicator of the total importance of

a journal to researchers.
(A) Garfield quotient
(B) Impact factor

(C) Eigen factor

(D) grindex

10.

11.

12.

JAN - 00118/I—A
ke forreery geifaoamae!
o IR Bl

(A) IR To=t
(B) &Ieeh

(C) <fueeht Tahdl
(D) fog emer@

T fosgd weE fosrra sreda
Wetieent Hifedran STy o fasea
HId I A ?

(A) G9MeE O
(B) HeHuI-g=
(C) A= o

(D) a7 FeRIIRT Shfteh T&ieh

wenar fradwifas™a N ewRTast

TRy HEw SIOUIRT Halad gk

(A) TRHITE YTTHA

(B) gvre Ty
(C) ST T[Urh

(D) SH-g=ehieh




Answer Question Nos. 13 to 18
based on either the English

passage or the Marathi passage:

The distinction that modern artists
and art critics make between the
arts, on the one hand, and crafts,
on the other, was foreign to classical
antiquity. Both arts and crafts were
regarded by the ancient Greeks as
“productions according to rule” and
both were classified as fechne, which
can be translated as “organized
knowledge and procedure applied for
the purpose of producing a specific
preconceived result.” This concept
runs directly counter to the deeply
ingrained insight of modern
aesthetic thought that art cannot be
reduced to rule, cannot be produced
in accordance with pre-established
concepts or rules, and cannot be
evaluated using a set of rules

reducible to a formula.

The Greek concept, with its
attendant notion that the
appropriate criterion for judging

excellence in both the arts and the

JAN - 00118/I—A
U %, 13 @ 18 ¥ Y faeiedn saramew

ATerTiia MR, U famarl
TS SAT=aTaiel gyt 3«

k3 | I

TMefsten faama g9de T aEed

. THAT ¢ I e A SAfed
Afor w@rdsd g qed A e
TS WG SR, TR = fHeh
Bidl. ST GREu g iy
A Sia 3R, e e wEe

Sl ST e qwe = gl
A TEdEerE WSt ‘g’ § AE

SqME@, W1 T=d Trel wuHifestd

qT=ATHREIT MENaRT=ar TSR

A TR, 3TIM YR =l A

U haed hEUN, <1 fohar e
Y Tg7 9 Th GHEiSeh oI Bl
gHIfees gemg O @EE gh. fea

S T Bl S0 g9 o

[P.T.O.



crafts was the “perfection” of their
production, predominated until the
middle of the eighteenth century,
when the French aesthetician
Charles Batteux heralded the idea
that what distinguishes the arts
from the crafts and the sciences is
the arts’ production of beauty. This
idea lasted until the beginning of the
present century when some critics
argued that “beauty” was a highly
ambiguous term, far too broad and
indefinite for the purpose of defining
or evaluating art, while, on the other
hand, many artists expressly
repudiated “beauty” because of its
too narrow associations with an
outmoded view that art was
beautiful and therefore should not
be evaluated or analyzed, but
should merely be appreciated. Since
1900, a large number of definitions
of art have emerged, each of them
covering a sector of accepted creative
and critical practice but none of
them, apparently, are applicable to
the whole of what is accepted as art

by the art world.

JAN - 00118/I—A
U] WA AA&T0 ded. S eI

HIETEET, TSR asEyHt, FW S

OHE SR STedid JEe dhed 39,

J FHSTEERd T vEd 3,
REET FESA B0 ST A9
SAER I GROMH Brard, O oA&rd =l

W I YT BIA9 el, 9U gHEEsh

IV THU R AEAE UUR BId. &
TS e T FHaE SR
gred siar sufor gwEefas  srfo
fRITARA TRRHH  HOIGT Tl
3T THeg wrehell, Swi Tl &om gt

‘o & AR Tehd SISUI HeM Skl

3R, FHMIRLOMET eie Yo 3T’ STl

qATE] IS AT el Bl godeh

STerten fa=a TR ANTon=a1 STesl
TSt qEen yEmnd fHestl, & e onfdeR
T SRS B, T 7ffeh THAETS

JAR SheEgl SUHASHl {0 HE




13.

14.

15.

According to the ancient Greeks,

arts and crafts were :
(A)
(B)

the creations of divine power

the creations produced as per

certain set rules

(©)

foreign concepts in arena of

culture

(D)

hollow inventions of the artists

and the art critics

Ancient Greeks considered the arts

and crafts to be :

(A) analogous to each other
(B)
©)

distinct forms of creation

the creations leading to human

contentment

(D)

the classical concepts meaning

production

As per the modern aesthetic view :

(A) art is an organized knowledge

and procedure that leads to

some results
(B)
©)

art cannot be governed by rules

art can definitely be result-

oriented

(D) art is the essence of pre-

conceived ideas

13.

14.

15.

JAN - 00118/I—A
AfEqn 3T W= SSIfauarETe 9ol &

N N N N
HeTdld Hod A T Hde T

qAE S ST T

(A) STE e, @Y 6

(B) qaiY s{eR, S 9%

(C) wgul faem aleR

(D) &qul faem I

e ¥ Hhae M= TH AqEA 6,

T WA i WUEl e Hewl
e -

(A) qatd I, STE s

(B) qaiY e, W 9%

(C) wqut faum ¥

(D) §yul faum sl

e H7a few Afeslt 0 wuS
(A) wrTSTeR geened aren

(B) wH~=l foeRmd g
(C) FHMaT ety =l
(D) FRYE deiel Rl

[P.T.O.



16.

17.

18.

To judge the excellence in arts and
crafts, perfection was the primary

criterion for :

(A) the modern artists
(B) the modern art critics
(C) the ancient Greeks
(D) the art lovers

Charles Batteux believed that it is
‘arts’ production of beauty’ that
distinguishes :

(A) the arts and crafts from sciences
(B)

(®)

the arts from sciences

the arts from the crafts and

sciences

(D) the arts and sciences from crafts

The author of the passage tries to
suggest that :

(A) there is a lack of all-inclusive

definition of art

(B) beauty can be the basis of

evaluation of art

(C) art can be judged by the

opinions of its lovers

(D) the ancient concept of art is
more acceptable than the

modern one

16.

17.

18.

JAN - 00118/1—A

M= Ha THSTEEhRTAIA HaeM™Tal
(A) 3T X ITE0l STEvash
(B) ¥d SQal B0 3TEvIS

(C) fafauzatia fasmar dse gl

SICEEED

(D) FEEEITE AN B0 avash

FHA ThSerat v fafo g4
FeAt, T GHIGX A=l YIOMEd

[RISERC I

(A) ¥l faem aleR

(B) Hyui faem =

(C) atd =R, Id &
(D) ST SRR, et g

1 IATIAMEET Afers gudw  vfiste
T ?

(A) HHAT : Tk GHISHR Hoo
(B) stfeen enfor Al sferm
(C) #mr wed
(D) Higm= HEE

10



19. Which of the following is the correct

20.

full form of CBFC in the context of

Indian films ?

(A) Central Board of Film
Certification

(B) Censor Board of Film Content

(C) Central Board for Film
Censorship

(D) Central Board for Film
Classification

In the context of journalism, what

is meant by ‘Page 3’ news ?

(A) Hard news about politics,
society etc. published on Page

No. 3 of a newspaper

(B) Soft stories on social and
personal lives of celebrities and

stars

(C) News about rape, murder and
other crimes published on Page

No. 3 of a newspaper

(D) Investigative and analytical

news about corruption
published on Page No. 3 of a

newspaper

19.

20.

JAN - 00118/I—A
e femrere Tavta ‘deftame’ =

A TR foear ioar ?

(A) T=a oIS 3w fhen gfdftreansm
(B) 99 & 1% fheq s
(C) I=a I ®wR fhey T=ARM™

o

(D) ¥=a o HR fheq Fenfaftrensm

IS TEHTd U3 s’ A G
a1 wE ?

(A) TSTRIOT o GHSTHAE=AT 319 o
FEATh &l TRl SAT FIATAT

fag=n 9MeR SYedr .

JoTdfehd et (DfAfser) a1 ar-
ARHT=AT grasideh a1 dFfoaeh
ST

A, T a1 3 TR0k
I ST AT =1 IHeR
BO AT

(B)

(®)

(D) gser=ERIEh e vnegs a1

ERC LRI I I R EE ]

fag=n 9HEeR BUe Srdrd

11

[P.T.O.



21.

22.

23.

In the
generated (typed) text, identify the

context of computer

odd non-verbal clue from the
following :

(A) bold
(B)
(®)
(D)

emoticon

italic

underline

From the perspective of the
advertiser, what is the ultimate

criteria of success of advertisement
as communication ?

(A) The ad is remembered by a

large general public

The ad
internalized by the target group

(B) is accepted and

(C) The ad is aesthetically liked by

a large general public

(D) The ad is discussed by the

target group

A teacher who considers ‘Knowledge’
as existing primarily in the students’
ability to interpret, generally tend
to emphasize more on :

(A) Powerful lecturing
(B) Transmitting information
(C) Presentation

(D) Discussion and negotiations

21.

22.

23.

JAN - 00118/1—A

qreRTgR fafea (Sfed) AseRTr=

TRHid qeid .3 fa= F=nia aie
I @l :

(A) 3k (Sles)

(B) wefe (gHifeshia)
(C) Y 1R (smafas®)
(D) TERfE (STetarEd)

STEUAeRI= gieshMgA SMfedd Th

ITESt A9 BTl Waled ARy

HIOTAT ?

(A) Wi HAHTHRYT SRl B S
ISRl

(B) @&g e o Wedd WiehRel o
AHAT hell

(C) TS FedTEROT STHEHaT o S
Giedemeiagtedn sasat
(D) <187 T 1 Sfeddier ==l et

‘IM ? qgeua fammeatea ety
FHTIIUATAT &THdd I FAHd ' 9
VR f¥TeTeh JEietien! helaR Sd ¥R
adte ?

(A) GuTet A SUIER

(B) wifedt Ut sHivameR

(C) wredishiumer

(D) == 9 3T AeTERaR

12
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24. Denis McQuail defines communi- | 24. S Hoa FAOHARET SATEAT JEAIHTO
cation as ‘a process which increases HAT — O B e e e
commonality — but also requires HHTTehd! SATfIURT Gfsha 3118, 907 Heold
elements of commonality for it to o ufsren wed JuArErdtE wHeRdd
occur at all.’” Which of the following TUceh SAEYIS  AHArd. | AT ATIAT
cannot be a logical, reasonable 3]|T%4Tﬁ\- S G 3J|3:Q|H Gusmen s,
inference of this definition ? Eew ﬁf‘i Yehd ATEl ?

(A) Communication depends on (A) TA ¥ fafay urdesadel Gghdier
culture located at various levels YRS 379d

(B) Sender is more important for (B) GRTOAMEY Yok & AT HewarH
the process of communication TGl

(C) Communication introduces a (C) \Liqilhldlgoé Uk 9 e (RfEesR)
change in sender and receiver 3N STETHEAE e TSdl

(D) Communication creates a (D) TAT9A Uk A1 Fagifeha SATaRy
shared symbolic environment fqgior &%

25. Let f'be a mapping from X = {1, 2, | 25. fooiedn £21 ThE Tk fohal ThME ek
B J , 50} to itself such that for TEX=1{1,2,3, .. , 50} I @
m, n € X, m < n implies that ®S WM MR &, X m, n € X,
fm) < An). Then which of the m < n 3{A R Am) < £n). TEAIHT
following is true ? FU fagm g e O G ?

(A) There is m € X such that (A) THdall m € X 3791 31Hdl i
fm) = m fm) = m

(B) For every m € X, we may have (B) 9% m e X Udl fm) = m - 1
fm=m-1 Y FETI

(C) For every m e X, we may have (C) Y¥h me XUl fm) = m + 1
fm) =m+ 1 3 el

(D) For every even m e X, we must (D) 9% GHEEI m e X HIal
1

have fm) = §m fm) = Em FAqeE difgst
13 [P.T.O.



26.

27.

A substitution takes a ‘word’ written
in the letters X and Y and gives a
new word by replacing each (old) X
with a Y, and each (old) Y with XY.
For instance, it converts YXY to
XYYXY. Starting with the 1-letter
word w, = X, we get new words
wy =Y, wy = XY, wg = YXY and so
on with each w,, , | obtained from
w, by applying the substitution. If
(/, m) is the pair with / = number
of X in wyy and m = number of Y

in wy. Then ([, m) = ........... )
(A) (21, 34)
(B) (34, 34)
(C) (34, 21)
D) (55, 34)

In a group of people, every engineer
is a teacher, no politician is a
teacher, every lady teacher is an
Then which of the
following statements is not true for
the

(A)

engineer.

group ?

There is a lady politician who

is an engineer
(B)
©)

No lady engineer is a politician
There is no male engineer who

is also a politician

(D) Every politician is an engineer

26.

27.

JAN - 00118/I—A
X SO Y 1 SAERTAET aeied] ITRTaH
T TTes, (=) X =1 ToIsit Y 3o
9 (S Y Torsit XY S dIR shell
STl 3qreeoned YXY 9gd XYYXY
fHezdl. S GEardy THIAT I8
wy = X 3T8e, T TelH IIGHTICThT,
Wy =Y, wy = XY, W3=YXY5|'?|iﬁqE?f.
w, , 1 8 w, TET e e

N

TR el Sl ST/ = wy "EE X
= WeM 9 m = wy AHE Y = gen
FAA R (L, m) = oo .

(A) (21,

34)
(B) (34, 34)
(C) (34, 21)
(D) (55,
THI ik HHRME, Yoush SATTAd o
fereren o118, ShIvTATE! TSThRON @ f¥erh
TR 9 Tk ffaenr & sifaEar e
I T Al i faem
IHA A® ?

(A) T TSRO S & A o 1e
(B) WRIVIIE! W AT ASTehROM TRr
(C) IV J&u STFar g1 TSR

A

(D) Yk TSThRUT BN Tl 378

34)
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28.

29.

30.

Female rabbits are either juvenile
or adult. Each month, each juvenile
grows to adulthood and each adult
female gives birth (on average) to
one juvenile female. Starting with
one juvenile female rabbit, how
many female rabbits will there be
after 10 months ?

(A) 71
B) 79
(C) 81
D) 89

1
fxy=1xp=1+5,x3=1+7

1 1 1

LIRS » X, =1+ o T g2t
+ gn 1) then which of the following

statements is frue ?

(A) 2 <x,<3, for n>10

(B) x,, < 1.8 for every n
(C) x, = 2 for some n
D) x, < 2 for every n

The number of positive divisors of
8000 is :

(A) 25
(B) 26
(C) 28
(D) 18

28.

29.

30.

JAN - 00118/I—A
T T ThR e /d fohan arevam
3TE 318 WA, T Aie=ard aev 94 We
T 9 (W) Tk Uie Hiel WH T
TG T S d. S Geadt Teh a0l
ST T 3T W 10 A=A AR TEArd
g Tt ?

(A) 71
B) 79
(C) 81
D) 89
1
E|'{X1=1,X2=1+§,X3=1+§
1 1 1
+2—2, ....... ,XH—1+§+2_2+ .......
1 AN A NN
+ a1 T JETHH] v [ECIER:]
AL ?
(A) 2 < x,, < 3, TIH! n = 10 HiS
(B) x, < 1.8, Y& n WSl
(C) x, = 2, T n FS
D) x, < 2, T4% n HA

8000 o1 FEHH HN SO TH &
T

(A) 25
(B) 26
(C) 28
(D) 18

15
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31.

32.

33.

Which of the following will complete

the series ?

17, 23, 37, 53, ........ .
(A)
(B)
©)
D)

Which of the following will complete

the series ?
EG, IK, NP,

(A) RT

(B) TV

(C) SU

(D) SV

In a code language the word

‘CHENATI is coded as 49615210,
then what is the code for the word
‘SANGLT ?

(A) 2021581310
(B) 202147129
(C) 201158139

(D) 202148128

31.

32.

33.

JAN - 00118/I—A

e R T S 9 e 2
17, 23, 37, 53, ........ .

(A) 61

(B)

(C)

(D)

qEeden! hivrdl 9AE S quf e ?
EG, IK, NP,

(A) RT

(B) TV

(C) SU

D) SV

TsT Gihfds «aeid ‘CHENAD @1

[N o

49615210 315 3141 foAfean, T M= 9

oo

‘SANGLI’ 31 s =hdl Tedl

A ?
(A) 2021581310

(B) 202147129

(C) 201158139

(D) 202148128
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4. Which of the followi h h " " o
34. Which of the following shows the | o, JEITUsh! HIV T T2, FoaSS]
correct relationship among players,
Wealg MU Feala Eedlg M I
Kabaddi players and Football
@ Hay qrEfad ?
players ?
(A) (A)
(B) @ Q ®) @ Q
() (®)
D) D

17
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35.

36.

If Football is lighter than Tennis-
ball and Basketball is heavier than
Tennisball, but lighter than hand-
ball, then which is the correct
ascending order of balls in terms of
weight ?

(A) Football, Tennisball, Basket-

ball, Handball

Basketball, Handball, Tennis-
ball, Football

Football, Tennisball, Handball,
Basketball

Tennisball, Football, Basket-
ball, Handball

(B)

(®)

(D)

Based on the following statements
which of the following conclusion(s)
given below follow(s) ?

Statement A : All animals are
intelligent and all intelligent things
are human beings.

Statement B : Some children are
innocent.

Conclusion I : Some animals are
human beings.

Conclusion II : Some children are
not innocent.

(A) Only I

(B) Only II

(C) Both I and II
(D) Neither I nor II

35.

36.

JAN - 00118/I—A
SR eata EieTie gaeht STg ST
Srehedtel fraafenen e R, Wy

FreaeTia] oTehl 3718, T ASTIgHR Sl

Jedl shH kdl A ?

(A) Tedrd, Syaiel, IRehesiiel, deailc]

(B) wehesiicl, geaiial, s, Hsicl

(C) eaid, e, gesiicl, aRehesial
(D) fatd, Heaid, aEhesid, greaia
qera faamr=n smaR soma(dq) e
e/ e ?

faemT 31 : 9d wroft Jfgam smea smfor
Td gfgad s AME 3TRa.

fagm & : *E o foum e
fsRel 1 : sl Wi AME SR
fsRsl 11 : @ go Foa AR,
(A) FH 1

(B) e 11

(C) I =nfor 11 Sr2wt

D) 19 II =rer e
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37. The following table presents the

number of families in a village
earning a certain level of monthly
income from their factory job in the
nearby town :

Number of Income band

Families (in Rupees)
42 5,000—9,999
40 10,000—14,999
36 15,000—19,999
18 20,000—24,999
5 25,000—30,000

Which of the following statements
are correct ?

() Approximately 54% of the
families earn between
Rs. 10,000 and Rs. 20,000.

(i7)) There are 70% families who
earn more than Rs. 10,000.

(zz1) A family with highest income
earns Rs. 29,500.

(iv) Median income is between
Rs. 10,000 and Rs. 14,999.

(A) (1), (1) and (i11)
(B) (1), (D) and (iv)
(C) (1), (D) and (iv)
(D) (1), (i) and (iv)

JAN - 00118/1—A

37. YRl deRaTd STaeseA Tadie] ShREITeR

AT U Tehl Tedrid fafay

eI Terdia Fhedrdl e el TR

Eelcll 30 TE
e (TEE)
42 5,000—9,999
40 10,000—14,999
36 15,000—19,999
18 20,000—24,999
5 25,000—30,000

g0 HIfgdia®d ©TeilaTdshl hIoTd]

fau™ @ 3T ?

(1) WTERVE: 54% Har 391 10,000
T 20,000 THATAT STHEH 3.

() 70% FH2ar= 3= 10,000 TIATIET
T TR

(1) T Iq STHUTT el =1
29,500 T =TT

(7v) =TT HEAT 10,000 O 14,999
U U ST,

(A) (3, () for (7))
B) (), (i) 0 (iv)
(C) (1), (&7) 3 (iv)
D) (1), (i) A (Fv)
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38. The following are the number of

cases filed under Sec. 498A of
Domestic Violence Act during the
month of December, 2013, 2014 and

2015 at three cities, namely Pune,

Hyderabad and Jaipur :

38. URld dHAM

JAN - 00118/1—A

\\l A o (el

2fos feam=m s
(heTH 49837) 79X 2013, 2014, 2015
a1 FEgEd, O, TIEE M0 SR A
T IEUHEd T el TeRTunE
e el e

Which of the following statements

are true ?

(1) Maximum increase occurred in
Jaipur from 2014 to 2015.

(z7) Minimum increase occurred in
Hyderabad from 2013 to 2014.

(111) Average increase for the period
together is lowest in the case of

Hyderabad.
(7v) Minimum increase has occurred
in the case of Pune from 2014
to 2015.

(A)
(B)

(1), (1) and (i)
(i1), (ii)) and (1v)
©)
(D)

(1), (fi1) and (1v)
(1), (1) and (iv)

Td | gor EE | AR
Year | Pune | Hyderabad | Jaipur 2013 40 50 30
2013 | 40 50 30 2014 | 50 55 50
2014 | 50 55 50 2015 | 50 60 80
2015 | 50 60 80 el Afgdiae qEiaieh! o faum

T TRd ?

() TTEA FTA JHI=A] H&Iq
Halfeeh oTe SEqX 49 2014 1 2015
521 I 1

(7)) TS A Fh o= T&ad Haid
HAT 92 TEUEE AT 2013 T 2014
TLE el

(1i7) < Ioicel TOEA et fa=m s
TEERHE TRE STeed YTl

T dl€ gdid e AR

(fv) T ST Yeh{oT= H&Ad Faid
HH 91 Y01 49 2014 d 2015 STIH
T

(A) (1), (1) efor (22

B) (i), (iif) 30 (iv)

(C) (2), (i) 3T (2v)

D) (1), () 3O (4v)
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39. Pass percentage of a school for | 39, ws1 3ITMMEdI 2003 T 2008 AT
six consecutive years starting FHICaLidid IO ZHharl 3TIhH
from 2003 to 2008 are 45,- 56, 45, 56, 42, 61, 55 =TT 52 A =%,
42, 61, 55 and 52. If the ratio of N o
students who appeared for the 2003 .20082'-[ Tl 21 I&Fe ST
exam in the years 2003 to 2008 are foreneata wAOr 2 :3:4:3:2:3
2:3:4:3:2:3, then the pass Y AT TRl auiel Wi Svn
percentage of the school in six years Sgha Todl e ?
together is :

(A) 51.5%
(A) 51.5%
(B) 47.5% (B) 47.5%
(C) 55% (C) 55%
(D) 42.5% (D) 42.5%

40. A survey conducted among 480 | 40. C; 0 C, = TF Helo=mer=ele
students of two colleges C; and C, TR 480 forneafa d aTRd STHere
regarding the type of computers they TITOTH T WehTXTalTeId o870 Shiuard 3TTel.
use, resulted in the following table, 2l H%fedﬂ]ﬁﬁ el il Shrel ATfedt
with partial information. It is known el qeRaTd Seifae 3Te. C, s C,,
that the ratio of number of students o HRIfTede faeneats = 9 : 7
of C; and that of C5 is 9 : 7 : e :

College|Desktop |Laptop|Both [None FETfeErer | SWhelq | efueid | S aﬁ:g@

C — — — 15

1 C, — — | =1 15
Cy 120 — 30 — C, 120 — 30 —
Total — 195 | 70 | 40 TR — 195 | 70 | 40

How many students of college C C, werfeernermde ferdl forneff Siita

have at most one system ? ST Teh YhRAl TI0Th  aTokdrd 2

(A) 195 (A) 195

(B) 90 (B) 90

(C) 255 (C) 255

(D) 315 (D) 315
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Direction (Q. Nos. 41 and 42) :

In the following table, the number
of students who passed in four
subjects, English, Hindi, Marathi
and History in divisions A, B and
C of standard X of a particular

school is given :

Division|English |Hindi | Marathi | History
A 29 30 38 25
B 34 32 36 30
C 26 34 31 29

41. What is the possible maximum

number of students in Division B,

who passed in all the four

subjects ?
(A) 34
(B) 30
(C) 36

(D) 26

JAN - 00118/1—A

o (0. k. 41 37T 42)

THT IMS=AT AT SETaI=ar did

1 forweme it geien famneat=t T
e dearHed foeft oTe

Tt | gust | R | wdt | sfaew
A 29 30 38 25
B 34 32 36 30
C 26 34 31 29

41. o1 Mokl B Therdial TIRel faw=ia 3ot

i fomneat= 9 Siid s feh

Y TR ?

(A) 34

(B) 30

(C) 36

(D) 26
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42.

43.

44.

The maximum possible number of
students who passed in both Hindi
and Marathi in three divisions

combined is :
(A) 93
(B) 96
(C) 105

D) 111

Identify the incorrect pair from the
following :

(A) .ttf = font file
(B) .wav = audio file
(C) .jpg = graphic file
(D) .exe = exclusive data file

Find the correct pair from the

following :
(A) 1 Kilobyte = 104
(B) 1 Megabyte = 10°

(C) 1 Gigabyte = 1012

(D) 1 Terabyte

42.

43.

44.

JAN - 00118/1—A

el gehearmed faggd & a wwdt =
St fawamae 3Tl seren faenets
T S S fehdt ST TR ?
(A) 93

(B) 96

(C) 105

D) 111

qEIcTueh! Teh SISl s

(A) .ttf = i< HrEd
(B) .wav = aAffesq (&5+1) wied

(C) jpg = Wik (fa=) wEdA
(D) .exe = TFIFSR S HRA

TR 3Tgeh Siel sieen :

(A) 1 frameEe = 104
(B) 1 #mamge = 106

(C) 1 merEe = 1012
(D) 1 e = 101
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45.

46.

In the context of internet what is

the full form of ftp ?

(A) formatted transfer process

(B) formal texting process

(C) file transmission procedure

(D) file transfer protocol

The principle that internet service
provider and government regulators
should treat all data on Internet
as of same importance and not
discriminate or charge differently
by user, content, website etc. is

called on :

(A) Digital equality

(B) Digital democracy

(C) Net priority

(D) Net neutrality

45.

46.

JAN - 00118/I—A
ST Tl ‘TR (ftp) A E=H
foer ®9 wivd ?
(A) WHZE W T8
(B) wiHa T WiE
(C) wRA TAHE MRS

(D) HEA IEH HIEEhld

‘geEaiel 9d Hifgdiedl (221) $ete Jal

RASRRA o R RN qrE
Tl TG o T ATk, 3T, Jese

affe = SR YT e =9 o

TTesoTes Y[och SAThTE T4’ AT ™IS
TS IV G STORArd 2

o (aV

(A) SifSed saanfae

N

[sh

4,

(B) Eifsed 2

(C) e U

(D) e Ll
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47.

48.

Which of the following is the correct

chronology of internet facilities ?

(A) Amazon, Google, Snapchat,

Facebook

(B) Google, Facebook, Amazon,

Snapchat

(C) Google, Amazon, Facebook,

Snapchat

(D) Amazon, Google, Facebook,

Snapchat

Identify the correct pair from the

following :

(A) Amazon — Sabir Bhatiya

(B) Google — Sergey Brin

(C) Twitter — Julian Assange

(D) YouTube — Jimmy Wales

JAN - 00118/1—A

47. ZTATId@ gfagr=n @™ &wTawH

48.

HIOTAT ?

(A) 3=, TTe, Faee,

(B) e, hyd®, 3THAH, T

(C) T[T, THAM, HygHh, T

(D) ™A, T, hydeh, TIde

TEcush! Irg Siet sfeen ¢

(A) o= — wifer e

(B) T — @ fod

(C) TR — AT STEi

(D) Fega — fSH 9"

o

o
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49.

50.

51.

Which type of waste is classified as

hazardous ?

(A) Chemical
(B) Household
(C) Commercial
(D) Agricultural

.................................. is a major source

for fecal contamination in water.
(A) Domestic effluent

(B) Chemical effluent

(C) Steel plant effluent

(D) Pharma industries effluent

is mainly
responsible for depletion of ozone in

the stratosphere.

(A) Chlorofluorocarbon
(B) Chlorine

(C) Sulfur dioxide

(D) Carbon dioxide

49.

50.

51.

JAN - 00118/I—A
qEleTen! IVl He BIhRE ThR

gHIfIse HI0Id STl 3T ?

(A) TSR

(B) e

() = Hee
(D) Ffce

qroft o A RRTYA 3.
(A) *RIT IO Hiearoft
(B) TMMe HrEUTof

(C) Es TR BI=I] HRETT
TS
(D) oo HREE e

qElcTdehl IVl AIHeS RIS

3= 9T oA RO e ?

(A) FARTFISTRITSA
(B) FaRH
(C) TR SHAES

(D) & SRS
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52.

53.

54.

A major initiative undertaken
for water conservation namely

“Jalayukta Shivar” in :
(A) Maharashtra

(B) Orissa

(C) Bengal

(D) Rajasthan

Which of the following resources is
renewable ?

(A) Coal

(B) Petroleum

(C) Natural gas

(D) Forest

due

Socio-economical impact

construction of multipurpose dams
in river vallies is mainly concern

for :

(A) Forest loss
(B) Water quality
(C) Seismicity

(D) Project affected people

52.

53.

54.

JAN - 00118/1—A

qrogTe GER HIOATER! ST
e & IS ShIveT A ST
g ST ?

(A) HENT
(B) 3T
(C) St

(D) TSI

JEITIeh! IV F1E Tl T HuATSIH]
e ?

(A) HizEl

T WA SEvE AUl SRS
TSI a STfYe Y96 T&ad: HiIvmeR
S ?

(A) STl |
(B) HroaT= I[oTer

(C) 94
(D) fozenfya smelel MR
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55. Educationist and theirs special
educational contribution — choose

correct :

(Y) Louis Braille (1) Handicapped

learners

(R) Helen Kellar (2) Deaf learners

(L) Thomos Edison (3) Dumb and

Deaf learners
(W) Lal Adwani (4) Blind learners
(A Y—(2), R—(4), L—(1), W—(3)
(B) Y—3), R—(2), L—(4), W—(1)
(C) Y—4), R—(3), L—(2), W—(1)
D) Y—(2), R—(1), L—(3), W—(4)
the

56. Regarding Maharashtra

University Act, 1994 which one of
the following Articles suggested a
various rules of admission for the

senior college ?
(A) Article 65
(B) Article 66
(C) Article 67

(D) Article 68

JAN - 00118/1—A

55. foemomasy enfor e fage fremondie
AMEH — Ik B ¢

(F) qH 9

(1) 3T STeZFAT-
et

(2) HUERR
IS

(3) HeheIfeR 3Tfur
HUSER
AT TETS!

(4) ST-ATIT-
et

(A) F3—(2), 3—(4), T—(1), I—(3)

(I) T IR

(&) 9mg wfead

(9) o 3rsaru

(B) 3—(3), 3—(2), ¥—(4), 3—(1)
(C) 7—(4), +—(3), T—(2), 3—(D)
(D) F—(2), 3—(1), T—(3), —(4)

56. "gRrse fommdis wraer, 1994 ¥R

qIATHRT HIUAT HAATIE  FSI
HRIforarearEs! gaem= from giad sheiel
e ?

(A) <heTH 65
(B) <heTH 66
(C) <hetH 67

(D) <heiH 68




57.

58.

Yoga Education Mission is related

to :

(A) Medical Education

(B) General Education

(C) Technical Education

(D) Professional Education

‘Abhijeet goes to singing class.’

Which type of education is this ?

(A) Formal education

(B) Informal education

(C) Non-formal education

(D) Technical education and non-

technical education

58.
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(D) &g

‘erfafsra AT SIgen SEl.’ ®

ST G fyreyor emw ?

(A) =i e

(B) wrdfimer feemor

(C) M= fereyo

(D) i o & et fam
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59.

Y)

(R)

(L)

(W)

60.

Match the List I with List IT and
select the correct answer from the
group given below :

List I List II
(Universities) (Locations)
Jagannath (1) Tirupati
Sanskrit
University
Rashtriya (2) Darbhanga
Sanskrit
University

Kameshwarshing (3) Puri
Sanskrit

University

Gurukul Kangari (4) Haridwar
Sanskrit

University

(A) Y—4), R—(3), L—(1), W—(2)
(B) Y—(2), R—(4), L—(3), W—(1)
(C) Y—1), R—(2), L—4), W—(3)
D) Y—3), R—(1), L—(2), W—(4)
What is the full form of ICSSR ?

(A) Indian Council of Social Science

Research

(B)

Indian Council of Space Science
Research

(C) Indian Council of Scientific

Search and Research

(D) Indian Congress of Space and

Scientific Research

JAN - 00118/1—A

59. e fecie a©l [ 9 a@T 1T Teriia 3Teeh
I e
T 1 RICUN
(forerdte) (¥arm)

(T) STNY G (1) faeoudt
IEEIEIC]

() T TR (2) M
foemdts

(@) HweRfET ¥&pa (3) T
fommdts

(9) TeHRA FITE 4) wfER

60.

Teha faards

(A) I—(4), +—(3), d—(1), 9—2)
(B) 3—(2), +—(4), ©—(3), 9—(1)
(C) I—(1), ¥—(2), T=—(4), 9—(3)
(D) I—(3), (1), T—(2), 9—(4)

.91, T9.TH. ). (ICSSR) =1 guf
foar ™ ?

(A) Sfeam wifba 3ife e Ty fwd

(B) sfeem wifda 3ife &g 99 =

(C) 3feam =ifaa 1w wEfefrs o=
e o=

(D) <fea % e T 3iT grifefren
=
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ROUGH WORK
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